Chapter 04 - The Visual System of Work Toolkit

Introducing the Break-Even Sheet

Break-Even Snapshot

ke o Quantity of units and price per
Revenue unit multiplied and summed.
Goods/ Services Capture as many as possible,
Description Qty/ Month _ales Rev Ea. Net Rev.Ea. Mo. Subtota to include at least 80% of total
Inspection and Tuning 300 35 10500 1¢
Basic Repair 175 48 8400 1 revenue.
Add Ons 25 140 3500 3500]

Time-based revenue streams

S SRR (auto-calculated into monthly)

Description Qty DLy Rate Mo. Subtota

Subscriptions 32 Monthly 35 1120700y

Licensing 15 Yearly 199 24 '

Day Pass Total monthly revenue.

Monthly Revenue

Goods/ Services

Subs/ Mbsp.

Total Monthly Revenue 23,768.75 Costs directly related to sales,
i.e. on a per-unit basis.

Expenses

Cost of Sales

Description Qty Freqency Rate Mo. Subtotal

Subscription Costs 1 Monthly 550 550.00]

Materials Repair 1 Each 370 370.00

Contract Services 70 Hrs/Each a5 3150.00

Add Ons 1 Monthly 500 500.00
Throughput - the key parameter

Monthly Cost of Sales for measuring success.

Cost of Sales 4,57(

Throughput =R-COS

Total Throughput 17,830.00

Operating Expenses

Description Qty Freqgency Rate Mo. Subtotal

Web and Admin 1[Monthly 200] 20 :

Salaries S[Monthly 2083.333333) a1l All fixed costs that generally

Building Lease 1] yearly ey 135 recur regularly every month (or

Utilities 1| Monthly 900 90 year, etC)

Interest

Taxes 1|yearly 13000 1083.33

Maintenance Grounds 1| Monthly 1500 1500.00

Advertizing 1|yearly 9000 750.00

Investments Qty Freqency Rate Mo. Subtotal

Business reinvestment 0.00

Inventory 0.00

Tools and Equipment 1| Monthly 500 500.00

Other Investment 0.00

Monthly Expense

Investment

Operating Expense

Total Monthly Expense 16,600.00 Net Profit for the month.
Break-Even occurs when this

tetErolit (Bl value increases from zero each

month.
Date Revised:
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How To Apply The Tool

The Break-Even calculation is usually done for a specific product or service. The Break-Even
Snapshot (see Appendix) gives a starting point for this. The Break-Even analysis for a business would
necessarily include all products or services together, and the Break-Even for a business department
would necessarily include all services for all products or services within that department.

These are the steps to determine Break-Even:

1.Determine Cost of Sales (actual variable unit costs): Determine the costs of producing one unit of
the product. Variable unit costs are only those one-for-one costs to make the product or buying
it wholesale. For example, if you are printing books, your variable unit costs are paper, binding,
and glue, and other costs related to one book. Labor costs are generally not included, unless
using per-part contract labor or similar. For a service industry, cost of sales are incremental
costs incurred by providing the service, including travel and material costs, rented facilities to
deliver a unit of service, contract service costs, and so forth. Such costs will usually be minimal
compared to salaries and wages.

2.Determine Operating Expenses (fixed costs): These are costs to keep the business operating, even
when no products are produced. These costs would include rent or mortgage, utilities, insurance,
salaries of employees (including production personnel), and all other recurring costs. Other costs
include designing the product and packaging, prototyping, and patenting your product. It is most
useful to isolate overhead costs to the lowest possible level of the business in order to make
decisions at that level, e.g. for a department, a specific plant or a product line, if possible.

3.Determine unit Selling Price per Unit: Estimate the unit selling price for your product based on the
Cost of Sales (not including any Operating Expenses) and the market conditions, customer behavior
and product positioning. This price may change as you see where the break-even point is.

4.Determine an estimated sales volume for the estimated unit price: Estimate the quantity of units that
will be sold given the known customer demand and for the maximum addressable market for the
company. This need not be exact, but it will provide a “window of opportunity” to focus the analysis.

5.Run the calculation: To do a break-even calculation, use a spreadsheet to calculate Cost of Sales,
Operating Expense and Selling Price. A simple formula is: Break-Even Quantity = Operating
Expenses/(Selling Price - Cost of Sales). This calculation is already in the tool spreadsheet.

6.Review the graph. This will demonstrate the Break-Even Point, where Sales Revenue intersects
Total Expense. To look at it differently, a second plot can be reviewed, using Throughput (Sales
Revenue minus Cost of Sales). The Break-Even Point will be shown as the intersection of
Throughput and Operating Expense.

Vary the numbers - Now the Selling Price can be varied to show the shift in the Break-Even Point and
demonstrate the sensitivity of Selling Price to Break-Even Point Volume. Additionally, changes in
variable cost can be examined to demonstrate changes in the Break-Even Point.

“The only way to be secure is to make money and generate cash. Everything else
is a means to that end.” - Jack Stack, founder and CEO of SRC Holdings
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